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to handle buttonclick
r=text of field field11
s= (text of field field12) *2 *P1/360
if(r=0)
u=>5
else
if (r 24H1—2 *r *cos(s))=0
u=4
else
ifcos(s>0.5 *r)
u=6—r2/2—1—0.5 *(2 *r *cos(s)—r?2)
else
u=6—r2/2—1/ (qrt(r 2--1—2 *r *ws(s)))
end
end
end
text of field fieldl=“u=" &u
end
to handle buttonclick
textline 1 of text of field field2=“r=" &0 &, u="
&5
step i from 1 to 200
step j from Ciext of field field12) o (text of field
field12)
r=1/100; s=j *P1/180
if (P2+1—2 *r *cos(s))=0
u=4
else
if (cos(s)X>=0.5 *r)
u=5—r2/2—0.5*Q2 *r *cos(s)—r2)
else

u=6—1r2/2—1/ (sqrt(r 2--1—2 *r *ws(s)))
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end
end 3
textline i1 of text of field fiel=“r=" & &, P (r, 0) ,
u=" &u 3 . r 0 ;
end ; roo
end 0, r . 0=
end ., re 0, 2) 01

0=180", r€ (0, 2). ol
Hrl 181 ’ 1 s 0102

= %] 7030, w=5 201525 539 6835 = 4 . r=2 0€ (0, 180),

r=04, y=5205 714 285 71429

r=041, u=5206730 141 843 97 |4 3 11/3 o
r=042, u=5 207 574 647 887 32
r=043, u="5208 249 300 699 3 LF |

r=044, u=5208 755 555 555 56

r=045 w=3520010 3862 -

0.45, 1=5209094 82738621 | S
=046, u="5209 268 493 150 69

r=047, u=57209 277891 156 46 |5 - 4

r=048, u=5209 1243241324 13

r=0.49, 1=5208 809 060 402 68 | - 3
r=05, v=5208313133323313 \
r=0.51, u=5207 698 144 370 86 — 2
r=0.52, w=5206 905 263 157 49
F=083, w=5 208 055 228 756 17 L. 1
r=0.54, =5 204 849 350 649 39
- r=l) 85, 0=520) 588 70967742 = _LLu_LLLu.l.Ll.l.u.lu.LL_LLLLI.I.u.LLLu.lJ_u.u]__.
Tt O 30 2 20 & — 42 P, P, o, o, r
3 4 0,0,
1 0,0,
r 01 02 0.3 04 05 0.6 0.7 08 0.9 1.0
6— 0 u 49000 48000 47000 46000 45000 44000 43000 4.2000 41000 4 0000
r 1.1 1.2 1.3 1.4 1.5 1.6 1.7 1.8 1.9 2.0
u 39000 38000 37000 3.6000 35000 34000 33000 3.2000 31000 30000
r 01 02 0.3 04 05 0.6 0.7 08 0.9 1.0
u 50859 51467 51858 52057 52083 55195 51668 51244 50687 50000
0— 138G r 11 12 L3 14 L5 L6 1.7 1.8 1.9 2.0
u 49188 48255 47202 46033 44750 43354 41846 4.0229 38502 36667
r 0. 42 0. 43 0. 44 0. 45 0.46 0. 47 0. 48 0. 49 0. 50 0. 51
u 5.207 57 520825 520876 520909 5 20927 520928 520912 520881 5 20833 5 20770
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Numerical Calculation of an Electrostatic Field Problem
JIANG Xing —fang
(Department of Information Science, Jiangsu Polytechnic University, Changzhou 213016, China)

Abstract: The computer was applied in physics teaching. Electric potential values in electrostatic field were

got by numerical calculation, a curve of electric potential was drawn, and a point of maximum value was found.

It illustrated the impulse development of physics teaching modernization when the digitization technology was

applied to physics teaching.

Key words: electrostatic field; numerical calculation; digitization technology
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to handle buttonclick
textline 1 of text of field field2= “r=" &0 & “,
u=" &5
local u [200]
step i from 1 to 200
u i =0
end
step i from 1 to 200
if <101
step j from 0 to 0
r=1/50; s=j *Pl/ 180
if (r2+1—=2%r *cos (s)) =0
u [50 =4
else
if (cos (s) >=0.5 *r)
u[i] =5—r2/2—0.5*% (2 *%r *cos (s)
—r2)
else
u[i] =6—r2/2—1/ (sqrt (r 2+1—2
*r *cos (5)))
end
end
textline i + 1 of text of field field2= “r="
&r & ¢ u=" &u [i]
end
else
step j from 180 to 180
r= (i—100) /50; s=; *PIl/180

if (#P2+1—2 *r *cos (s)) =0
u [50] =4
else
if (cos (s) >=0.5 *r)
u[i] =5—r22—05% (2 *r *cos (s)
—r2)
else
u[i] =6—r2/2—1/ (qrt (r2+1—2
*r *cos (s)))
end
end
textline i+ 101 of text of field field2= “r="
&r & “, u=" &u [ i
end
end
end
step i from 2 to 200
if <101
set vertices of line ( “line” &i) to 5 000+ (i
— 1 *20, 4000—u [i—1] *500, 5000+ i *
20, 4000—u [i] *500
else

set vertices of line ( “line” &i) to 5 000— (i

—100) *20, 4000—u [ i—1] *500, 5 000—
(i— 100> *20, 4000—u [i] *500
end
end
end



